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Which of the lnllnwmfT coneept 15
not introduced by Jean Piaget in his
Cognitive Development theory ?

(1) Assimilation (2) Accommodation
(3) Symbolic  (4) [:quilibration

Which of the following is the highest
level in hicrarchical thcory of
learning given by Gagne ?

(1) Problem solving lecarning

(2) Principle learning

(3) Conceept learning

&Mulliplc discrimination lcarning

Which of the following is the non
projective technique of personality
measurcment ?

(1) Association technique

(2) Sociometric technique

(3) Construction technique

(4) Completion technique

According to Stanford-Binct 1Q
scale, what is the IQ range ol low
mentally retarded children ?

(1) 5210 67  (2) 3610 51
(3) 20to 35 (4) below 20
Which of the following structure of
mind  directed according  to
Hedonistic and pleasure principle ?
(1) Id
(2) Ego
(3) Super Ego
(4) Choleric
P.T.O.
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Which of the following is the /

characteristic of motivation ’ :

(1) In motivation, bchaviour 0
person is goal oriented.

(2) Motivated bchaviour
continuity. ' .

(3) Nature of motivated behaviour 1s
rigid.

(4) Motivation does cnergy changes
in human beings.

docs

the pmpoundcr: ol
Anticipatory theory of play ?

(1) Karl Groos

(2) McDougall

(3) Herbert Spencer

(4).G. Stanley 1all

was

Out of the following which onc is
the wrong statement in context of
characteristics of instincts ?

(1) Instinet is innate.

(2) Instinct is very powerful.

(3) Instinct is ephemeral.

(4) Instinct s

psycho-physical
disposition. '

Who stated that "Adolescenie is a period
of stress, strain, storm and strife" 9

(1) William 1. Barton

(2) Stanley Hall

(3) J. A. Hadfield

(4) Jean Piaget

Who was the propounder of psycho-
analytical method ?

(1) 1. B. Watson

(2) Wilhelm Wundt

(3) Sigmund Freud

(4) J. M. Cattell
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Which one of the following stage ,iH

not prescribed by James Draver in

the  context  of  development ol

character ?

(1) The stage of crude emotion

(2) The stage of sentiment

(3) The scll regard stage

(4) Conforming conventional stage

Who developed the first intelligence

test.?. ‘ -

(1) Lavator

(2) Sanguin

(3) Francis Galton

(4) Alfred Binet and Simon

Which of the following is the false

statement ?

(1) Learning is a process not a
product.

(2) Learning process s
purposeful.

always

(3) Areca of learning is broader.

(4) Behaviour  changes  through
instincts and reflex actions are
also considered as learning.

‘Who propounded Brain storming

method for fostering. and boosting
creativity ?

(1) Torrance
(3) Osborn

(2) Myres
(4) Gordon

Which of the following is nor the
innate motive ?

(1) Safety
(3) Thirst

(2) Hunger
(4) Rest

P.T+O.
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The mental activil ——
thought, decision 1M
and other higher ment
called :

(1) Visual images

(2) Cognition

(3) Concepts

(4) Propositions
Which of the following is behav o
perspective of modern psycholog_\' ?
(1) Focuses on overt behaviour.

§5CS 1‘1

joural

. . > 'S_
(2) Focuses on cognitive processe

(3) Focuses on the biological events.
(4) Focuses on critique of male bias..
Which of the following is not the
characteristic of good mental health ?
(1) Emotional maturity

(2) Self confidence

(3) Intolerance

(4) Capacity of self evaluation
Which of the following is not the
other name of Thorndike's theory of
Connectionism ?

(1) Stimulus response theory

(2) Bond theory of learning

(3) Theory of conditioned responsce

(4) Trial and Error theory

Who was the founder of socio-culture
theory of cognitive development 9

(1) Jean Piaget

(2) Jerom Bruner

(3) Lev Vygotsky

(4) Kohlberg
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a1, Which of the following is 10! l

2.

26. A branch of

type ol dynamic trait of PU"“”””“W
given by Cattell 7
(1) Attitude

(3) Sentiment

(2y Urge
(4) (‘onservative

Which of the following is nof the type
ol one ol the component content
under three  dimensional 'T“’.d“"I of
intellect given by J, P, Guilford ?

(1) Vigural (2) System

(3) Symbolic  (4) [3¢chavioural

Which of the following theory is not
rclated with the theories ol transfer.
of learning ?

(1) Theory of'mental discipline

(2) Theory of rote memory

(3) Theory of identical clements

(4) Theory ol gencralisation

For which age group the (‘hildrc.ﬁ
Apperception  Test  (CAT) 18
applicable ?

(1) 205 yrs‘. (2) 0 o 4 yrs.

- (3) .16 1o 18 yrs.(4) 3 to 10 yrs.

Which one of the following is' not
correct: way of rcleasing pent up
emotional energy ?

(1) Substitute responses

(2) Displacement

(3) Regression

(4) Sclf pity

psychology “which
studies how people change physically,
cognitively and socially over the

entire life span is known as :

(1) Clinical psychology

(2) Counselling psychology
(3) Developmental psychology
(4) Experimental psychology
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() Rarast gy o sgf qed B (2) Tendency ol day s
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(3) T T Iar B » (3) Vocabulary too increascs. .
) TF W e e gy (4) Mental abilitics rcach at their
§ W T W ¥ highest level.
28. Fy=ioifea & @ P G aedt @ 28. Out of the following which onc is
TRyl & wast i TTT BT T 7 the. wrong statement in context ol
: characteristics of habits ?
(D) =T Bfre fafy 3 fo (1) Habit is automatic response 1o
' . specilic situation,
LT B § efr & ot (2) Habit is ‘acquired through
@ ' heredity.
(3) AT 378 T § vy et 3y (3) Habit- is a  well learned
A | | performance.
(4) T_T Fa9 §q oo 89 (4) Habit is performed only under
T Wi ad ¥ , similar circumstances. |
20. Fffad & & Fr HiFT™ 79 29. Which of the following is nor the
- ety et g7 type of projective technique  of
(1) 9= qread gligo | ?le)rs&lalill);\mca?ur_cm'clfn ? |
' aﬁﬁ’ﬁ ord Association Test
%g;:é ;g e i T (2) Woodworth's Personal Data Sheet

(3) Sentence Completion Test
(4) fomr e ey (4) Thematic Apperception Test

30. Fefifeg § d Fa.qr o & aor 30.  Which of the followin

& is the correct

H g R F § logical order of elements of memory 9

‘UJ—W - I BT — g0 (1) Lcarning —>  Recall” ’—a
T 4 | Retention — Recognition

(2) G B — iy > T — (2) Recall = Lcarning 3
e Retention — Rccognilio;]

(3) S 7 BRI - TEaM - | - (3) Learning Recall -
4T | Recognition — Retention

4) I — g o g TR - (4) Learning Retention
TEaT Recall — Rccognition. g
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Dutcfion Ans“’or the foHou.

46, Scleetthe correct wense form :

The car (belong) o my mother, She
(use) 1t today to take Tom lo the
denuist.

(1) belonged, is using
(2) belonged, using
(3) belong, used

(4) belongs. is using

47. Select the correct infinitive form of
the given sentence :

Seeing is believing.

(1) Tosee is to believe.
(2) Seen is to believe.
(3) To see is believing.
(4) Seeing is to believe.

48. Choose the option which has error in
it
(A) You should
B tell to me
(C) exactly what
(D) happened there

(1) A @B
(3) C 4) D

49. Change the following sentences into
Reported Speech by choosing the
correct option :

"We're waiting for the school bus."

said the children, "It's late again."

(1) The children told they're waiting
for the school bus and it is late.

(2) The children said they were
waiting for the school bus and it
is late. '

Level-3/302

wing questions by 5(.10,;“,,9 the m most appropriate option.

50.
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3 [he  children unnplcunud lhal
they were waiting for the school
bus and it was late again.

(4) The children cumpluincd' that

they were waiting for the school

bus and it is late.

Sclect the correct preposition to fill
in the blank :

He broke the jug ... a hundred

picces.
(1) in _(2) ‘into
(3) over (4) about

Change the voice from Active 10
Passive. Choose the right option :
We  shall  discuss  the
tomorrow in the meeting.
1) The question will be discussed
tomorrow in the mecting.

question

(2) We will be discussing the
question  tomorrow in  the
meeting.

(3) We shall be discussing tomorrow
the question in the meeting,

(4) The question shall
tomorrow in the mecting.

discuss

Select the correct meaning of the
underlined phrasal verbs :

I cannot: make out the meaning of

this verse.
(1) discovery

_(2) understand

(3) reading (4) start
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53. Sclect the correct preposition to fill
in the blank :

57. Choose one word substitution for the

following : ~
lar

They live ........ the same rool. A word spelt and pronounced simi

(1) m (2) before but differing in meaning.

(3) after (4), under (1) Antonym  (2) Homonym

. j . o\ / X 'm

54. Change the following sentences into _(3) Synonym (4) Pscudony

Reported Speech by choosing the 58. Choose the correct option :

corpect gption, o Transformation of sentences @ Simple

e ormation of sentences : ¢

If you want to smoke you'll have to rans
- to Compound

20 upstairs." said the landlord.

(I) The landlord told him that if he
wants to smoke he'll have to go

He must work hard to make up for
the lost time. :

upstairs. (1) He must work hard, cover the
(2) The landlord told him that if he lost time.
[‘Z;an;eg :t)aisr]?()kc he would have (2) Making up for the lost time he
goup : must work hard.

_Q) The landlord said’ that if he
would want to smoke he would

g0 upstairs.

(3) He must work hard and make up
for the lost time.

(4) The landlord says if you wanted (4) Working hard will make up for
to smoke you would have to go the lost time.
upstairs.
' . 59. Choose the correct option :
55. Choose the correct form of tense Trans(ormation from Simple
given in the option : sentence to Complex sentence

She (play) the sitar since 6 o'clock
this morning. He just (stop).

(1) playing, stops

(2) was played, stopping

(3) has been playing, has just (2) A lost moment is forever lost.

A lost moment is lost forever.,

1) A moment which is lost is los
(1) , ent which is lost is lost
forever.

~ stopped : .
(4) have been playing, stopped (3) Forever a lost moment is lost.

: 4) No moment is
56. Choose the correct meaning of the ) Lis lost forever.

ulndc.rlir}c'd ic(ililoml: y o 60, lShclcbclt l]l\lc correct conjunctions for
He is friendly to the munister, he ¢ blanks -
jumped the queue and got promotion. We will come ....... it rains
(1) replace something ‘ oL, ttrams
O it
4 3 s P i . ‘
(4), get something out of turn <L whether. or - (4) cither, ang
- ‘o §l‘4 s 6o K . & ~
Leve1-3/3026‘ Oy Y :;Q ( Yoo ! Z,o___. 7012:79
15 - 37 Is + 3 ‘ T
- x| 733 G: 1% |
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{H=y Ay (GENERAL STUDIES)
WO A, iy STRRETET qyy MR g1y e STEIF (QUANTITATIVE APTITUDE,
RERSONING ABILITY AND G. K. & AWARENESS)

61. In a certain pauwern, if 9 * 3 — 36.
10*6:64-9*1.':25.??[?{%3'5{ o 10 * 6 =64,9 * | =25_then in samce
TW23* 35 A R B ? pattern what is the value of 23 * 37
(1) 169 (2) 52 (1) 169 (2) 52
Q) 32 (4) 576 | C(3)32 (4) 576
2. AR A = S| ‘Eﬁg’, B & oy 62. If A means 'plus’, B means 'minus'.
T, C Bl qiir pogy aef C means 'divide by, D means
‘TF{’ @f, ar r=fefag F G HH 'multiply’.  Then = what will be
1 BT 7 23 simplified value of
I8AI2Ce6D2 B S = IBAI2C6D2RB 5 =9
(1) 25 (2) 27 (1) 25 Q) 27
- @3) 15 @7 : (3) 15 (4) 17
83. IR 7 T 7 BT B 8 g ¥ ey 83. 1f 7 carpenters can make 7 chairs in
& %, @ 70 TET 70 qgﬁi?ﬁ @ TN 8 hours, how many hours will 70
7 fopaw gue TN ? carpenters take 1o make 70 chairs 9
(1) 8 goe (2) 560 gue ~ (1) 8 hours (2) S60 hours
(3) 56 gue (4), 70 que : (3) 56 hours (4) 70 hours
64. 2:5 IRl TAF G & - 64. Which number must be added 1o
e SEl 9N fFowa gemet @ cach term of the ratio 2 : 5, 50 that iy
STIIE S: 68 W ? may equalto 5:69
(1) 12 (2) 11 (1) 12 () 11
B3 @ (3) 13 (4) 14
65. ¥ 10,000 =ehgf& AN & w9 F 5 §5. A sum of ¥ 10,000 deposited g
Qo= o g 9 B, ar 20 g REEIK| compound interest becomes double
;: 3q ?J?Fg’ﬁi' I H WY TE after 5 years. Afier 20 years the
e feRerT B STe 7

amount will be -
(1) 40,000
(3) T 80,000

(1) 40,000 (2) 60,000

(2) 60,000
(3) T 80,000 (4) % 1,60,000

(4) % 1,60.000

Level-3/302
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66. AF BH U 100 qy 3 3 & ot B
:agétﬁloomﬁaaaamﬁcﬁ
FLT X990 gy B, A g A
%wwﬁhﬁﬁﬁ@ﬂmm?
() X900 (2) T 1,000
(3) T 1,200 (4) T 950
67. THEl T ] g 20% g o B, @
ERIEN SUHIFT ERT 3T IqHT
7 A wfava  #h a7 & 9o B
SES @Y ¥ 3 R T8 @ ?
2, 2,
(1) 165 % (2) 155/0.
(3) 17%% (4) 16%%
68. \/z\/z\/z\/zg & A R OERT 7
(1) 0 @) 2
£22 1 (4) 231/32
69. & IemisAT 132 fiex ©d 108 Hex
T Th-gHt W faew R § o1 @
ZREd § s g 32 Relrgee
T gEG A 40 FElvaver R Ren
TG H  TH-gEl H U BT A ?
(1) 8 Ao (2) 10 Fo
(3) 12 Ao 4) 11 Vo
70. 0.3467 +0.1333 GHM 2T :
(1) 0.48 {2) 04801
(3) 048 (4) 0.48
71. 11, 1111, O.11, 0.011 &I HoHoYo
Fqr B 7
(1) 0.011 2 L1
~3) 0.11 4) 0.111
Level-3/302 - D - 9__,1: yho
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66,

69. Two trains

20%.

"m"
Aff,, a9’ "‘%\

A sold a watch to B at a gain of 10%.
and B sold it to C at a loss of 10%. It
C paid T 990 for it, then how much
amount paid by A ?

(1) 900 (2) % 1.000

(3) % 1,200 (4) 2950

The price of any item is increased by
Find the reduction in the

consumption of the item by a

" consumer so that there is no incrcasc

on his expenditure :

(1) 16%% ) 15%%
" 3) 17%% @) 16?5%

What is the value of 1{2\/ J'):/-:/-'Ji ?

(1) 0 (2) 2
(3) 1 (4) 231/32

132 meters and 108
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 40
km/hr. In what time will they cross
cach other ?

(1) 8scc. (2) 10 scc.
(3) 12 sec. _(4) Il scc.
0.3467 +0.1333 is cqual to :
(1) 0.48 (2) 0.4801
(3) 048 (4) 0.48

What is the HCF of 11, 1. 11, ()]l
0.0117 .

(1) 0.011 (2) 1.1
- (3) 0.11 (4) 0.111
G
1% at. Ly
T ,&/\'ﬂf 90
an
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wl
Al R dran ol by
{3 WU Ay T

() 134 () 4
(H 12 (4) 2+

R A W R s
N wa S .

TR g o

b .
a —cdaab = ¢e A daa g’()hh c'('('ddd
(1) bdbda (2) bddea

(3) dbbca () bbdac

T o 99 YR @ ueEitig aﬁtﬁizg
(v F T (s ) s R
2
FARY L6 | [ os |
£ s e |6 |
L1z | s | 2]
(1) 18 (2)16 |
(3)°12 4) 10

75. WO AW F ST T I DO :

163
(3¢ 127128 136, 163, 207, ...
=g () 352 (2) 350
3«1;;' (3),357 (4) 341
6 .
%& gra R A QL oF i A
) ReT & A, B adt R TR L, C
L%, % adi o ¥ a A 3w ok
L2 B, D3zt &R ¥ - R R
' 6% He A B 7
yc;‘& A 2) B
35 3D ) E
l’.’.;avel-3/302 g i "
L1 1 {
9‘1076 Dpagc

e

(18]

(C)
12, 1he ratio ol the areqs of the incirele
and circumeirele of square will be .
(1) 1:4 (2) 411
(_1)1:2 (4)y 24
73, lind the missing letiers in the given
[elter series ¢
a —cdaab —ce ~daq - php — ceddd
(1) bdbda (2) bddea
(3) dbbea (4) bbdac
74. The numbers in the following question
numbers are written according 10
certain pattern row-wise or column-
wise. Identify the pattern and find
the missing character accordingly :
6 | 1| 25 |
L8 | 6 | 16 |
L2 | s | 2|
(1) 18 (2) 16
(3) 12 (4) 10
75. Find the next term of the number
series :
127, 128, 136, 163, 227, ......
(1) 352 (2) 350
. (3) 357 (4) 341
76.

76. There are five different houses A to
E in'a row. A is to the right of 13 and
E is to the left of C and right of’ A. B
is to the right of D. Which of the
house is exactly in the middle ?

() A (2B

3)D 4) I
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(C) [16]
. PR R F ¥ MONKEY )l 77. In o certain code M“NKI‘\(KI ;:
ADIMNL Rrar spe, @t 11GER bl written as XDIMNL. Tow is T1G

& vwr sy 7 written in that code ?
SLUSDUHS ) s1irnQ (1) SDEHS — (2) SHIDOQ
Y QDEHS () unes (3) QDFIIS  (4)- UJHIS
18, 99 S & ok 10 Rl e & 78. Vijay walks 10 km towards I\OFI(?]!
J F o BBl oafyr @ el gedr & from there, he walks 6 km towarcs
South. then ‘he walks 3 km towards
m qsw ﬁ.’.‘ﬁ gé qﬁ, aﬂ.( aaa-r out 1
y East. [ow far and in which dircction
€ 99 T W aRPvE g @ o
= is hc mth reference to his starting
(1) 5 0t ufgey (2) 5 faHT :ﬁr(-tgf (1) 5 km West (2) 5 km North-last
Q) 7R @ (4) 7l ot (3) 7km East  (4) 7 km Wesl
79. welhal ﬁ T Ui § f3reqr &7 & 79. In a row of girls, Shllpa is 8th Irom
4 8T B Ol O 7 e 2 @ the left and Reena is 17th from the
1781 & afE ¥ aqr e oRd.aed & right, if ~they interchange their
Bl positions, Shilpa becomes 14th from
; i ji‘v{aﬁ 14? Wﬁ Y a o the left. How many girls are there in
] . 4 2
(1) 27 (2) 29 ?1;0‘2\7' (2) 29
(3) 32 r‘(,4_‘) 30 (3) 32 (4) 30
80. T 1988 F 15 g CEEIES FI A 80. If the Independence Day in 1988 was
T A, G 9T 1989 # ﬁEH fest wmar celebrated on Wednesday. On what
T oar ¢ . day was it celebrated in the year 1989 2
(1 @"Eﬂ'{ (2) HTeEr (1) Monday (2) Tuesday
(3) TeaX (4) PhaX (3) Thursday  (4) Friday
81. T/ @ fufeeq E’ﬁ?f Forem/ ot 8L. Identily the text/texts, in which the
EJ.IEIEI F T e € reference of Thanesar is found -
(i) wra | . (i) Harsheharit
(."‘.) 3T =T F =T g (ii) Travelogue of Yuvan Chang
(iii) Freved (1i1) Kadambari
LR = i,
(iv) FgT Hordl (iv) Karpur Manjari
el i 5 ;
%C q;r 99 : Choose the correct code -
(1) F3 (i) (1) Only (i
(2) (i) 9 (ii) (2) (i) and (i)
(3) () (}f)aﬁf(;%i | ~(3) (i). (ii) and (i)
ﬂ(l). (ii). (iii) ST (iv) (4) (i), (ii), (iii) and (iv)
Level-3/302 o 3 '
yl - g 17
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;&w‘tg : MRS i w
AL QT UG SEmpal R arg
(2) eI\ armal ang
(3) RN wpw o @w
(4) e R sy srd ww

1 Ty

3. ™ F § AW 2021 F ‘wy

ga. @l 3 Rawniedt v A Wit

gigmmm%ma@ﬂmﬁ-ﬁmw

T Wt ¥ ?
(1)L T AN M
(2) 9= e
(3) TaEE R
(4) 79 R

202133&%%@@%:

(2) 06
(4) 19~

(/11.04

(3) 08

FA & AN § gt See
I T Bl ol

() T

(2) Tregfey

(3) 98%

(4) T4 fue g

R sRaom @ ToEgEl & A
e e 9% OX Ted ge e !
(1) dlo THo Theil

(2) ria e T

-----------

(3) Fo o &l

(4) GER Tdo THo T

Level-3/302

[17]

83

82,

gs. lhe

(¢l
Mnlllhly magazine 'Ilmiprilhhu' is
published by :

(1) Information and Public Relations
Department

(2) Haryana Sahitya Academy

(3) Haryana Sanskrit Academy

(4) Haryana Hindi Granth Academy
Who among the following IS the
recipient of 'Padma Bhushan' in 20217
(1) Jai Bhagwan Goyal

(2) Virendra Singh

(3) Tarlochan Singh

(4) Mukesh Singh

g4. The total number of medals won by
~ the athletes of Haryana in the Tokvo
~ Paralympics 2021 arc :

(1) 04 (2) 06
(3) 08 4) 19
Haryana  Public ~ Service

Commission presents  its  annual
report of the work done by the
commission to the :

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

Who among the following Governors
of Haryana died while in the office ?
(1) B. N. Chakraborty ‘

(2) Ranjit Singh Narula

(3) J. [.. Hathi

(4) Sardar 1. S. Brar

P.T.O.
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[C] [18)
p “the fi dinp Is mol truce
87, Rf-md STy PR @ gtk | 87, Which ol the fnl!lc.m'n‘%;;m O ion
efarm TR PRy /el about the proposcc lrmt; 1””_ e b
g ' industrial arca under Delhi-V
gq? - T ¥ S industrial corridor in Iaryana ’ ’
' ‘aridabad = Palwal [ndustria
(1) Faridabad .

(I).Wﬁamw—qaaaaﬂgﬁmaq
Q) W@ — fam e A
(3) Tl — Arfio Frder

(4) TR — Eq Fray &y
88. ‘WITAG R& T @ g D

i isar investment
Rewari — [lisar 1nvestr '
% ‘ region

(3) Kundli = Sonipat investment
region

(4) Manesar — Bawal investment .
region

'Pran Vayu Devata Pension Scheme!

is aimed to :

(1) Consecrve older trees in
State _ ;

(2) Provide financial assistance -to
the non-government doctors in

Haryana

their old age

(3) Provide ecconomic relief 1o the
non-government paramedical
stall'in their old age

(4) Encourage plantation of Tuls
and Giloya in urban houscholds

89. Who among the following did nor
serve as the Chiel .Iusligc ol the
Punjab and Haryana High Coury »
(1) Justice Mukund Mudgal
(2) Justice A. K. Sikrr
(3) Justice M. S. Jain
(4) Justice Sanjay Kishan Kaul

W s 557 g5m

(2) e o Fo et

(3) SREH Wo THo 3

Lhifen qog B @
I I pe—

90. Origin of the which of the lollowine

T TR T 7 rivers is not correctly matched 9
T ST ww River Origin Site
gl B9 . (1) Saraswati  — Dangushaj
(2§ - dm R ‘ (2) Indori ~ Mewat il
3) WIW)'VET = mﬁﬂ; P! Q‘E‘Tf\?:'q“r | (3) Markanda  — Sivalik hi“:
(4) @i - ﬁh:ﬂiq?@m (4) Tangdi ~  Morni hijs

Level-3/302
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W’ = IV (PART - IV)
3N (ENGLISH)

JE———

91.

2'

) N .
Which Indian author was a lawyer,
an MP and was also awarded 'Padma

Bhushan' and 'Padma Vibhushan' ? -
(1) Shashi Deshpande

(2) Anita Desai

(3) Mulk Raj Anand -

4) Khushwam Singh

Robert Frost and Walt Whitman
belonged to which country ?

(1) England
(2) France
(3) Germany

(4)_United States of America
— .

Level-3/302

g questions by selecting the most appr opriate option.
‘T e e —

93.

e ——

Choose the correct form of Tense
for words given in brackets :

I wonder if ariylhing (happen) 10
Tom. T (wait) an hour now. He often
(keep) me waiting, but he never (be)
quite so late as this.

(1) had happened, had waited,

keeps, was

(2) has happencd, have waited, has
kept, has been

(3) will happen, will wait, will keep,
will

(4) could happen, could wait, can
keep, can be

Identify the correct phonetic

transcription of the word 'attorncy’

with the primary stress mark placed

at the right place :

'Attorney’

(1) /atoniy/

(2) /o'toni/
(3) /'ta:ni/

(4) /at'aini/

Scanned with CamScanner
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38+ Poet & playwright W, B, Yeats WaS
associated with which theatre ?

(1) Globe Theatre
(2) The English Theatre
(3) Runway

ﬁ_)__ Abbey Theatre

g6. In the poem 'Felling the Banyan
Tree' what contrast does the bring
about at the end of the poem ?

(1) There are plenty of trees both in
Bombay & in Baroda

(2) Trees are everywhere
(é) Big cities have the most trees

(4) There are hardly any trees in
Bombay but Baroda had a lot of
trees

/

97. The two important writers of the
Victorian Age are :

(1) Charles Dickens & John Donne
(2) Shakespeare and Donne

(3) Tennyson and Charles Dickens
.

(4) Bacon and Eliot

Level-3/302

[20]

98,

99,

100.

o s o EE A Y TN W s e S G

What is Walt Whitman's mosl

famous collection of poems called ?
(1) The Tower

(2) The Ballads

_@., Leaves of Grass

(4) The Lighthouse

What was the idea behind applying

make-up in the story 'Pocts and

Pancakes' ?

(1) To cover each and every pore of
the face

(2) To have fun
Qﬂ To look different
(4) To feel happy

Choose the participle from the
following sentence :

The creaking door awakened the dog.
(1) dog

[(2) awakened

(3) door

(4) creaking

Scanned with CamScanner
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01, Answer by choosing the  correct
option

Where did the vagpickers live in the
story "Lost Spring' ?

(1) Bangladesh
(2) West Bengal -
L3) Seemapuri
(4) New Delhi

~102. Pick out the gerund from the
following sentence :

What I most detest is smoking,
(1) what
(2) most
(3) detest
_(4) smoking

103. In the poem 'Refugee Blues' the poet

W. H. Auden talks about which
refugees ?

(1) German Jews
r—T

(2) Syrians

(3) Rohingyas

(4) Lebanese
Level-3/302

(21)

13

104, Replace  the  yept, with

a noun
Choose the corpeey option

fle has f!isgrnccd his family.
(1) He were disprace hig family.
(2) He was disgraced (o his family.
~ (3) Heis disgraced his family.

(4) Heis a disgrace 1o his family.

105. 'Malgudi' a fictional town in South
" India'was created by which author 7

(1) Anita Desai
(2) R. K. Narayan
(3) RajaRao

(4) Amitav Ghosh

106. What, according to the peddiar, is a
'Rattrap’ ?

(1) Cheese
(2) The world
(3) The riches

(4) None of the above

P.T.O.
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107.  The major theme of the play 'Broken
Images' is :

(1) Sisterhood

_(2) Marital relationship

(3) Sibling rivalry and intellectua

inferiority
(4) The novelist

108. The two main characteristics of the
Romantic Period were : ’

(1) Spontaneity and love for nature

(2) Orthodox and worship of the
ancient writers

(3) To write in a very embellished
style

(4) To compose only poems

103. The plural form of the word 'focus’

is :
_(1) Foci
(2) Focus
(3) Focusi
(4) Foce

Level-3/302

Pick out the type of Phrase Underlined)

from the following sentence -

110.

22N

He is coming at this very moment.
(1) Adjcctivc Phrase
ﬂ)\ Adverb Phrase
(3) Prepositional Phrase
(4) Noun Phrase

111. 'A Wedding in Brownsville' depicts :

(1) The colourful wedding

(2) The psyche of Jews after the
holocaust

(3) The Nazi's life
S4) The role of church

112. " Pick out the correct option -
To whom is the poem 'A lecture

upon the shadow' addressed o ?
(1) The students
(2) The day

(3) His beloved
/

(4) His friend

Scanned with CamScanner
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ns, the Nco-¢]

called @

assieal - Ape is glso

(1) The Romantje Age
(2) The Augustan Ao
(3) The Age of Reason

é_ﬂ) Both (2) and (3)

et
ot

312 Name the type of clause (Underlined)
by picking out the correct option

The house where the

occurred is nearby,

accident

(1) Adverb clause
(2) Verb clziusc
(3) Noun clause

4) Adjcctive clause

115. In the pocm "Telephone
Conversation' what did the speaker
want from the lady ?.

(1) He wanted to buy a clinic
(2) A room for rent
(3) Araven

‘(/4),A receiver

Level-3/302

116, Choose  the

s A

(C]

correct  phonctic
ranscription of the word given
'Yacht'

ijt{/

() /it
3) ljpt/

4) fiek/

. Choose appropriate prepositions for

the blanks :

accordance

.........

............ my people', the
president said, 'T am retiring

---------

public life'.

(1) For, of] to, by

(2) At, from, off, until
h(}!n. to, of, from

(4) This, to, from, by -

P.T.O.
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120. Choose the correct dcterminer for

8. According to, "The Journey to The
the blank :

Centre of The Earth' when did

Gondwana land exist 2 He hasnothad ............ difficulty.
(1) Six hundred and fifty million (1) many
years ago
' " (2) several
(2) Five hundred and sixty million
years ago (3) much
Mx hundred million years ago (4) these
(4) Five hundred and forty million Read the following passage and answer the
years ago questions given below selecting the most

appropriate option (Q. Nos. 121 (0 129) :

119. Select the correct option :
Democracy is indeed frustrating. 'It" allics

The sentence pattern of the sentence
itself with change, as the writer Lewis
H. Lapham writes in 'Age of [Folly,
which  engenders movement,  which
induces friction, which implics
unhappiness, which assumes conflict not
only as the normal but also as the necessary
condition of its existence' yet, il creates a

given below :
Nothing will make him repent.

(1) Noun phrase + Verb phrase +

Indirect object + Direct object

(2) Noun phrase + Attribute + Verb

+ Object mor¢ just society than any other
arrangement.

}3)_‘Noun phrase” + Verb phrase + As Lapham writes, if democracy means

Object + Objcet complement anything at all, "it means the freedom of

| ‘thought and the perpetual expansion of the
(4) Noun phrase + Verb phrase + discovery that the world is not oneself "
Adiective + Object o W? 'arc allv minorities here. If not by

| religion, than by where we live, our levels

of education, occupation, sexuality, eating

Level-3/302
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habits, the clothes we wear, our hairdo, by
whichever markers that set us apart.

It is this democratic project, imperfectly
realized as it, we are now in the danger of
losing. We know how we got here. It first
misfired in the states and attempts to make
corrective action fell short slowly, the
people of the country began doubting, "the
benefits which the freedoms on offer are

likely to bring them." To reclaim our

institutions and insist on scrupulous

adherence to the practice of democracy we

need greater vigilance and solidarity. In.

some ways, the battle for India was lost

when we stopped caring about rural
schooling. ' '

121.

The word 'it' in the second sentence
of the passage stands for :

(1) India '

(2) Freedom

_(3) Democracy

(4) Society

122.

Choose the statement which is nof
correct according to the passage :

(1) Democracy  creates a  just
society. '

(2) We are in danger of losing our
democracy.

(3) We are all minoritics here.

(4) We do not have to be vigilant.
Level-3/302

[25]

(C]

123.

What are we in danger of losing:
according to the passage

(1) Freedom

(2)_Democratic setup
-—

(3) Occupation

(4) Eating habits

124. The word synonymous to 'friction’
s

| ‘_(_1_)_‘ Conflict
(2) Similar
- (3) Contact
(4) Interest
125. 'Misfired' in the passage means :
(1) To fail to ignite

(2) To fail to achieve the anticipated
results

(3) Badly adjusted person

(4) lll-fitting garment

P.T.O.
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126.  According 10 the passage, we are in

‘Perpetual expansion’ of :
_(1), Democracy is a fajlure
~(2) The idea of doubting
(3) Conflicts

(4) The idea that the world is not
onesclf

127. We are all minorities here by :

(1) religion, occupation
(2) level of education, sexuality

(3) both (1) & (2)
/‘

(4) by friction

128. To practice democracy we need :

(1) conflicts and movements
_(Dvigilance and solidarity
(3) doubts and misfiring

(4) change and unhappiness

evel-3/302

[26]

129. 'Unity' means the same as :
‘.(l) Vigilance
(2) Division
(3) Disparity

ﬂ Solidarity

Change to Active Voice. Choose the correct
option : (Q. Nos. 130 & 131) .
130. Harsh sentences were pronounégd on
the offenders.
(1) The judge were pronounced
harsh sentences on the offenders.

(2) Harsh sentences - - were

pronounced by the judge.

(3) The judge pronounced harsh
L
sentences on the offenders.

(4) The offenders were pronounced
harsh sentences.

131.  He will be greatly surprised if he is

—_—— o

chosen.

(1) He will be greatly surpnsnd il
we choose him,

(2) It will SllI‘p!‘lSL him if he is
chosen.

L) Tt will greatly surprise him if we
choose hlm

(4) He will surprise greatly if he is
choosed.

Scanned with CamScanner



Join Telegram“Groub' "HaryanadJobs.in"

Change 1o Direct Speech. Choose the
correct option  (Q. Nos. 132 & 133) :

132.

K32 N

He asked his father ‘when the next
letter would come.

(1) He asked his father, "when
would the next letter go ?"

(2) ‘He told father when, "the next
letter will came." '

(3) He enquired from his father,

"when the next letter would
come 7"

@__He said, "father, when will the
i next letter come ?"

33.

He exclaimed that he was a very
stupid fellow :

‘il) He said, "what a stupid fellow
. you are !"

(2) He told, "you are a stupid
fellow."

(3) He told him, "stupid fellow you
are !"

(4) He said, "how a stupid fellow
you are !"

Level-3/302

[27]

135.

t‘(pﬂHow long shall 1

(cl

change from Simple (o Complex
sentence. Select the coprect option

The duration of my stay is doubtful.

stay IS

doubtful.

(2) Itis doubtful about my stay.

(3) If I am to stay long is not
decided.

(4) 1f1stay or not is doubtful.

Change from

an  Affirmative
sentence to a Negative one :

Old fools surpass all other fools in
folly.

(1) Old fools are not to be surpassed
by other fools.

(2) Old fools does not surp’asé other

— fools in folly.

(3) There is no fool like an old fool.

(4) There is no folly without fools.
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136. Change from Complex to Compound

sentence  and  seleet the correct
option given :

As soon as he got the telegram, he
left in a taxi.

(1) As he,left in a taxi, he got a '

telegram.

(2) He got the telegram, and
immediately left in a taxi.

(3) Ile got the taxi and lefi in a taxi.

(4) So he left in a taxi, he got a
telegram,

‘To keep the wolf from door'

means :

()JTO fecl very happy

(2) To keep hunger and starvation
away

(3) To be in a miserable condition

(4) To have a strong determination

Level-3/302

38.. Choose the correct option to fill in

the blank :
Reading travel accounts
onc's appetite for a

holiday.
1)_Tempers
() Tenr
(2) Wets
(3) Whets
(4) Teases

Select the right option :
A place where government - records
are kept is called :

(1) Museum
(2) Library
(3) Parliament

ﬁl Archives

Select the correct meaning of the
underlined word from the given
options :

An effeminate is generally not held
in high estcem.

1) Female-like
(2) Manly

(3) Weak

(4) Eunuch
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141, Pick the odd one out : 144, Sclect the correes option

1 YW q 4 & i
(1) devour She was so happy, her smile was a

mile wide' is an ¢,
imple of :
) gorge P

‘,(_3—) gulp (1) Oxymoron

(4) roar (2) Personification

ot
N

142. Change from Complex to Simple

sentence by selecting the correct
option :

Q Hyperbole

(4) Paradox
That you are drunk aggravates your

offence.

145. Choose the correet option :

(1) The offence is aggravated that People who are rough, not refined,

you are drunk. awkward and ill-mannercd are °

_(~Your drunkeness aggra{ratcs (1) Uncanny
' your offence.

‘ (2) Underdog
(3) You are drunk, so your offence

is aggravated. | ‘(,3,)-,Un‘coulh
(4) The offence is aggravated if you (4) Unabated
are drunk.

146. Choose the correct option :
43, The underlined phrasal verb means :

A place where bees and their hives

That building brings in Rs. 8,000 a are kept is called :

month.
1), apia
(1) demands L), apiary
(2) yields (2) aviculture
(3) converts A (3) aviary
_(4) exccutes : - (4) aviator
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(C] [30]

142 The words hat suppest that the 149, Change from an Assertive senience
on is to an Interrogative sentence :

One cannot gather grapes from
thorns or figs from thistles. |

literary  device 'Onomalopoeia' 'S
used in these lines are :

Small feet were pattering, wooden

shoes clattering
(1) Can one gather grapes from

Little hands clappin and'little
| i " thorns or figs from thistles ?

tongues chattering,

(1) Small feet & wooden shoes _ (2)'You cannot gather grapes from

(2) Pattering, clattering thorns or figs from thistles ?

(3) Clapping, chattering

/'(3) No one can gather grapes or figs
(4 Both (2) & (3)

from thorns ?

(4) Could you gather grapes from

148. Choose the cerrect option. Change thorns and thistles ?

from Positive to  Comparative

sentence : 150. Select the correct option :

Few historians write as interestingly
: &9 "Oh, the bells, bells, bells !
as Joshi.
What a tale their terror tells of
(1) No  historian  writes  as Despair !
intcrestingly as Joshi.
(1) Onomatopoeia
(2) Joshi writes more interestingly

2 s Alliterati
than most historians. L2). ration

(3) Simile
(3) Joshi is the most interesting

historian. (4) Oxymoron

{4) More historians  write  as
interestingly as Joshi.
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